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General instructions to be followed to pass essay 

1- Spend time on rightly comprehension of  the topic, you won't pass the essay unless and untill you addressed the asked part

2- Try to make your main heading in the outline from the words in the question statement 

3- Try to add hook in the introduction. The length of introduction must be of 2 sides

4- your topic sentence in your argument must be aligned with the ending sentence 

5- Avoid firstly, secondly, thirdly etc. in outline 

6- add references in your arguments with proper source. Go for diversification of references 

7- Do not add new idea or point in Conclusion 

8- You won't pass the essay if make more than 4-5 grammatical mistakes 

9- outlines that are not self explanatory or does not aligned to with the essay statement are liable to mark 0 and the essay would become null and void 




